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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

ECOACOR07T-ECONOMICS (CC7) 

MATHEMATICAL METHODS FOR ECONOMICS-II  

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Give two examples of convex set in Economic analysis. 
অথর্নীিতর আেলাচনায় বয্বhত হয় এমন dিট Convex set-এর উদাহরণ দাও। 

(b) What do you mean by “Mixed Strategy” in game theory? 
েগম তেtt ‘িমË-েকৗশল’ বলেত িক েবােঝা ? 

(c) What are the assumptions required to convert a “Leontief Static Open Model” to 
a ‘Closed Model’? 

িক িক অনমুােনর dারা একিট “Leontief Static Open Model”-েক  ‘Closed Model’-এ 
পিরণত করা যায়। 

(d) Show that the following function is homothetic. 

েদখাও েয িনmিলিখত অেপkকিট েহােমােথিটক। 

 2
21

2
1 )log( xxxy �  

(e) Explain the concept of constant-sum-game. 

‘‘rবক েযাগফল েগম’’ ধারণািট বয্াখয্া কেরা। 

(f) Mention two main differences in between “basic feasible solution” and “feasible 
solution” in linear programming problem. 
‘‘েবিসক িফিজবল সমাধান’’ ও ‘‘িফিজবল সমাধান’’ dেয়র মেধয্ dিট pধান পাথর্কয্ অনুধাবন কেরা। 

(g) Solve the equation 62  � y
dt
dy , with initial condition 10)0(  y . 

pাথিমক শতর্ 10)0(  y  হেল 62  � y
dt
dy

 সমীকরণিটর সমাধান কেরা। 
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(h) What kind of time path is represented by 952 )( �� t
t

yy . 

িনmিলিখত সমীকরণিট িক ধরেনর সময়পথ িনেদর্শ করেছ ? 952 )( �� t
t

yy । 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  
5×4 = 20

(a) Let the monopolist face the demand function aAPq � , under what condition the 
monopolist will decide to increase the Price (P) in order to increase revenue. 

যিদ একিট একেচিটয়া pিতেযাগী aAPq �  চািহদার সm ুখীন হয়, তাহেল েকান শেতর্ েসই pিতেযাগী 
িবkয়মূলয্ (revenue) বাড়ােনার উেdেশয্ দাম (P) বাড়ােনার িসdাn েনয়। 

(b) Given the following demand and supply functions find the inter-temporal 
equilibrium price and determine whether the equilibrium is stable. 

 )0,( !� EDED tdt pQ  

 )0,0(1 !�� � GJGJ tst pQ  
 stdt QQ   

িনmিলিখত চািহদা ও েযাগান অেপkেকর পিরেpিkেত আnঃেমািলক (Inter-temporal) ভারসাময্ 
দাম িনধর্ারণ কেরা এবং ভারসাময্ দাম িsিতশীল িকনা তা িনধর্ারণ কেরা। 
 )0,( !� EDED tdt pQ  

 )0,0(1 !�� � GJGJ tst pQ  

 stdt QQ   

(c) Take t
iy )(2

1)200250(200 �� , what is the value of E ? Compute 321 ,, yyy  to 

satisfy yourself that iy  is falling from initial level of 250 towards the equilibrium 
level of 200. 

ধরা যাক t
iy )(2

1)200250(200 ��  E এর মান কত হেব ? 

21, yy  এবং 3y  এর মান িনণর্য় এমনভােব যােত iy  এর মান pারিmক মান 250 েথেক ভারসাময্ দাম 
200 এর িদেক অবতারণা কের। 

1+4

(d) Solve the following game by using “Dominance Principle”: 

 B1 B2 B3 B4 B5 
A1 3 5 4 9 6 
A2 5 6 3 7 8 
A3 8 7 9 8 7 
A4 4 2 8 5 3 

 
উপেরাk েগমিট ‘‘েডািমনয্াn িpিnিপল’’ এর সাহােযয্ সমাধান কেরা। 

5
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(e) Given the input-coefficient matrix of an input output model and the final 

consumption demand vector ⎥
⎦

⎤
⎢
⎣

⎡
 ⎥

⎦

⎤
⎢
⎣

⎡
 

50
50

&
2.02.0
2.03.0

'' CA . Find the optimal 

output level of two goods. Suppose that 0.2 and 0.1 are labour coefficients of two 
good respectively. If 100 L  will there be unemployment in the economy? 

একিট ইনপুট-আউটপুট মেডেলর উৎপাদন সহগ-ময্াি¹k ও সবর্েশষ েভাগ চািহদা েভkর হল 

⎥
⎦

⎤
⎢
⎣

⎡
 ⎥

⎦

⎤
⎢
⎣

⎡
 

50
50

 
2.02.0
2.03.0

'' CA  । dবয্ dেয়র কাময্ উৎপাদেনর পিরমাণ কত হেব ?  

ধরা যাক dিট dেবয্র pেয়াজনীয় Ëম সহগ 0.2  এবং 0.1  এবং 100 L  হেল অথর্নীিতেত েবকারt 
থাকেব ? 

3+2

(f) Graphically solve the following linear programming problem: 

েরখািচেtর সাহােযয্ িনmিলিখত “Linear programm” সমসয্ািটর সমাধান কেরাঃ 

Maximize  21 76 xxz �  

Subject to 1232 21 �� xx  

 82 21 �� xx  

 0, 21 �xx  
  

3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর  উtর দাওঃ 

10×2 = 20

(a) Solve the following Linear Programming Problem with the help of the Simplex 
Method: 
িসমেpk পdিতর সাহােযয্ িনেচর সরল �রিখক েpাgামিটর সমাধান কেরাঃ 

Minimize  myxz 284 ��  

Subject to 4422
1 ��� myx  

 62 ����� myx  

 where 0,, �myx  

10

(b) Set up a Leontief Static Open Input-Output Model and show how prices are 
solved in such model. 
িলওনিটেয়েফর িsর মুk ইনপুট-আউটপুট মেডল গঠন কের েদখাও িকভােব ঐ মেডেল দামgিল 
িনধর্ািরত হয়। 

10

(c) Suppose the market demand and supply function are  
মেন কেরা বাজােরর চািহদা ও েযাগান অেপkকgিল িনmrপ 

 )0,( !� EDED tdt PQ  

 and )0,( !�� GJGJ tst PQ  

The price adjustment is inversely proportional to the inventory accumulated such 
that )0()(1 !�� � VV dtsttt QQPP . 

Interpret the time path of price in detail. 

10

এবং
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দাম িনধর্ারণ যিদ মজুত ভাčােরর পিরবতর্েনর সােথ বয্াsানুপািতক হয় অথর্াৎ 
)0()(1 !�� � VV dtsttt QQPP , তেব দােমর সময় পথ িবেųষণ কেরা। 

(d) Consider the following game (Player 1’s payouts in bolds): 

িনmk েগমিটেত েখেলায়াড় 1–এর payouts gেলা bold করা আেছ 

Player - 1 

Player - 2 
 Left Middle Right 

Up 1,  2 3,  5 2,  1 
Middle 0,  4 2,  1 3,  0 
Down –1,  1 4,  3 0,  2 

(i) Does either player have a dominant strategy? — Explain. 

 েকান েখেলায়ােড়র িক “dominant” sািটিজ আেছ ? —  বয্াখয্া কেরা। 

(ii) Does either player have a dominated strategy? — Explain. 
 েকান েখেলায়ােড়র িক “dominated”  sািটিজ আেছ ? — বয্াখয্া কেরা। 

(iii) Solve the equilibrium for this game. 
 েগমিটর ভারসাময্ সমাধান কেরা। 

2+2+6

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021  

CMSACOR07T-COMPUTER SCIENCE (CC7) 

COMPUTER NETWORKS 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates should answer in their own words as far as practicable 

All symbols are of usual significance. 

 Answer Question No. 1 and any four from the rest  

1. Answer any four questions: 2×4 = 8 

(a) Mention the names of three widely used guided media in transmission 

mechanism. 

 

(b) What are the full form of PSK and PSM?  

(c) Differentiate between internal modem and external modem.  

(d) What are the full form of WNS, DNS and https?  

(e) Why Half Duplex Communication is used?  

(f) What is the purpose of a guard band?  

(g) What is the relevance of ‘three way handshake’ is used in Transport Layer 

function and protocol? 

 

   

2.  (a) What is Network Topology? 2+6 

(b) There are N devices, to be connected through a network. How many distinct cable 

links would be required if the following topology is followed? 

(i) Mesh, (ii) Ring, (iii) Bus. 

 

   

3.  (a) State and explain Nyquist Formula. 2+2+4 

(b) Determine the maximum (theoretical) limit of bit rate (in bits per second), in a 

noiseless channel, of a Bandwith of 5000 Hz transmitting 64 levels. 

 

(c) State and explain the Basic Service Set (BSS) for Wireless LAN as provided in 

IEEE 802.11 specification. 

 

   

4. Compare and contrast in between the following error recovery protocols. 2+2+4 

(a) Stop and Wait ARQ (Automatic Repeat Request)  

(b) Go Back n ARQ  

(c) How many bytes of data can be sent in 15 seconds over a serial link with baud 

rate of 96000 in asynchronous mode with odd parity and two stop bits in the 

frame? 
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5.   What is port address, logical address and physical address? A composite signal 

contains frequencies from 10 to 30 KHz, each with amplitude of 10V. Draw the 

Frequency spectrum. What does a decibel measure? 

3+3+2 

   

6.  (a) Compare and contrast in between Amplitude Modulation and Frequency 

Modulation with appropriate example. 

5+3 

(b) Why TCP is said to be reliable and connection oriented protocol?  

   

7.  (a) What is routing? 2+6 

(b) Compare and contrast in between Non Adaptive Routing Algorithm and Adaptive 

Routing Algorithm. 

 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 

of exam. University / College authorities will not be held responsible for wrong submission 

(at in proper address). Students are strongly advised not to submit multiple copies of the 

same answer script. 

 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021  

CEMACOR07T-CHEMISTRY (CC7) 

ORGANIC CHEMISTRY-III 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 Answer any four questions taking one from each unit  

 UNIT-I  

1.  (a) State whether the formation of Me3CCH(OH)Me by acid catalyzed hydration of 

Me3CCH=CH2 is possible or not. If not, then how this transformation could be 

achieved? 

3 

(b) Three isomeric alkenes A, B and C with molecular formula C5H10 on hydrogenation 

produce 2-methylbutane. A and B give the same tertiary alcohol on 

oxymercuration-demercuration. B and C give different primary alcohols on 

hydroboration-oxidation. Logically deduce structures of A, B and C. 

3 

(c) Carry out the following conversions: 

(i) 2-butyne to (Z)-2,3-dideutero-2-butene 

(ii) 4, 4-dimethyl-2-pentene to 4, 4-dimethyl-1-pentene. 

2+2 

   

2.  (a) Singlet carbene adds to cis-2-butene in a stereospecific manner whereas triplet 

carbene does not — Explain. 

3 

(b) Identify the product(s) formed when 1-octene is reacted with NBS/CCl4. Predict the 

relative yields with proper justification. 

2 

(c) What happens when 1, 3-butadiene is treated with HBr at – 80
o 

C and at 40
o 

C 

separately? Predict the product composition in each case and offer proper 

explanation in support of your answer. 

3 

(d) Give a simple reaction to distinguish 1-butyne from 2-butyne. 1 

(e) Write structural formula for the compound which yields pentane-1,5-dial on 

reductive ozonolysis. 

1 
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UNIT-II 

 

3.  (a) Pivaloyl chloride (Me3CCOCl) reacts with benzene in presence of anhydrous AlCl3 

to give mainly tert-butylbenzene whereas anisole under same reaction condition 

gives mainly p-methoxypivalophenone — Explain. 

2 

(b) Predict the favoured position of aromatic electrophilic substitution of the following 

compounds and justify your answer in each case: 

(i) Ph–CH=CH–CO2H   (ii) Ph–CO2H 

2 

(c) Compare reactivity of PhNHCOCH3, aniline and benzene toward bromination 

reaction with proper justification. What is the major monosubstituted product 

formed during bromination of  PhNHCOCH3? 

2 

   

4.  (a) Compare the reactivity of the following compounds towards nitration reaction using 

a mixture of concentrated HNO3 and H2SO4: 

 C6H6 ,   C6D6 ,   C6H5–NO2   and   C6H5–OMe 

2 

(b) Predict the product giving proper mechanism. 

  

2 

(c) Account for the following observation: 

 The amination of both O-chloroanisole and m-chloroanisole yields only  

m-anisidine. 

2 

   

 UNIT-III  

5.  (a) p-N,N-dimethyl aminobenzaldehyde or p-nitrobenzaldehyde separately on 

treatment with KCN/EtOH fails to give benzoin condensation reaction but a 

mixture of these two readily responds to the reaction. Explain the observation 

mechanistically. 

4 

(b) Give structural formula and name of the product of the reaction between 

benzaldehyde and semicarbazide. Comment on the nucleophilicsite(s) in the 

semicarbazide molecule. 

2 

(c) Write down all the possible products from a mixed Claisen condensation with 

CH3CH2CH2COOCH3 and PhCH2COOCH3. 

2 

(d) In the following reaction sequence, identify A, B and C. Suggest suitable 

mechanism for the conversion from B to C. 

 

 

3 

(e) , β-unsaturated acid, RCH2CH=CHCO2H decarboxylates readily on heating but 

R3CCH=CHCO2H does not. — Why? 

2 

A 
A c 

2 O   /   N a O A c   /   H + 
C O 

2 H 

H 
2   /   P d - C   /   M e O H 

B 
S O C l 

2   /   A l C l 
3 C 
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O3 / Zn -AcOH
A 

NaOEt / EtOH
B

H2N-NH2 / KOH

Ethylene glycol / Heat
C

   

(f) Carry out the following conversion applying protection / deprotection technique. 

 

 

 

 

2 

(g) Optically active PhCOCH(Et)Me is racemised on base treatment but 

PhCOCH2CH(Et)Me does not — Explain. 

3 

   

6.  (a) Identify the products the following reaction. 

 

(i)  

 

(ii)  

 

  

3+3+2 

(b) When the following compound is treated with NaOEt/EtOH, two isomeric 

compounds (A) and (B) are obtained. Give suitable mechanism for the formation of 

the products. 

 

O

CO2Et

O

NaOEt / H+

A      +     B

 

3 

(c) Synthesis of 2,2,5,5-Tetramethylhex-3-ene cannot be accomplished by Witting 

reaction — Explain. 

2 

(d) Semicarbazide hydrochloride alone does not react with a ketone to give 

semicarbazone but when mixed with sodium acetate — it does — Why? Which 

nitrogen is involved in the reaction and why? 

3 

(e) Convert: 

  

2 

   

   

A B C D E
EtCOCl

Anhy AlCl3

SeO
2

i) PhMgBr

ii) H3O+

H
2
SO

4
I2/NaOH

[C
20

H
16

O
2
]+ F

CO2Et 

O 

? 

O 

OH 

(iii) 
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UNIT-IV 

 

7.  (a) Give the products with proper explanations: 

 

??
MeMgBr / Et2O / CuIMeMgBr / Et2O

O

 

2 

(b) Carry out the following conversion involving organometallic reagents: 

  (Me2CH)2CO  ⟶  (Me2CH)3COH 

2 

(c) Why Zn is a specific reagent for Reformatsky reaction? 2 

   

8.  (a) Convert the following using organometallic reagents: 

 Me2CO  ⟶  Me2C(OH)CH2COOH 

2 

(b) What happens when PhCH2MgBr is treated with HCHO followed by acidification? 2 

(c) How can you prepare the acid R3C–CO2H from R3COH? 2 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 

(at in proper address). Students are strongly advised not to submit multiple copies of the 

same answer script.  

 

 
––––×––— 

 

 



CBCS/B.Sc./Hons./3rd Sem./BOTACOR07T/2020, held in 2021 

3108 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

BOTACOR07T-BOTANY (CC7) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 

1. Answer the following questions in brief: 1×6 = 6 

(a) Define expressivity.  

(b) What do you mean by complete linkage? How it is related to crossing over?  

(c) Assume that an organism has 62 n  chromosomes. How many chromosomes would be 

present in a trisomic organism of this species? 

 

(d) Differentiate between multiple allele and polygene.  

(e) What do you mean by complete linkage? How it is related to crossing over?  

(f) Distinguish between nullisomics and double monosomics.  

   

2. Answer any eight questions from the following: 3×8 = 24 

(a) Discuss maternal effect with reference to inheritance pattern of shell coiling in snails.  

(b) Distinguish between true allopolyploid and segmental allopolyploid.  

(c) Give the molecular mechanism by which alkylating agents cause mutation.  

(d) What is the basis for the green white colour variegation in the leaves of four o’clock plant 

(Mirabilis jalapa)? If the following cross is made: Variegated (Female) × Green (Male). 

 

(e) Briefly discuss the genetic significance of F2 phenotypic ratios 9:3:4 and 13:3.  

(f) Distinguish between pericentric and paracentric inversions. What are the meiotic products 

of paracentric inversion? 

2+1 

(g) Briefly describe the CIB method of detection of sex linked lethal.  

(h) Why is the DNA repair extremely important? What will happen if RecBCD is mutated in a 

cell? 

 

(i) What is pedigree analysis? Write all the symbols used in pedigree analysis.  

(j) What is the difference between a transition mutation and a transversion mutation?  

(k) What are cistron, recon and muton?  

(l) How many A and a alleles are present in a sample of organisms consisting of 10 AA, 

15Aa and 4aa individuals? What are the allele frequencies in this sample? 
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3. Answer any two questions from the following: 5×2 = 10 

(a) A cross was made between purple leaf (pl), glossy seedling (gl) draft (t) variety and wild 

(+++) type. F1 plants were test crossed and the following proportions were obtained when 

a sample of 1000 plants were counted: 

Wild  type 310 

Purple leaf, glossy seedling, dwarf 305 

Purple leaf 140 

Glossy seedling, dwarf 145 

Purple leaf, dwarf 42 

Glossy seedling 43 

Dwarf 09 

Purple leaf, glossy seedling 06 

Determine the correct order of the genes. Calculate the map distance between the genes, 

Coefficient of coincidence and Interference. 

1+2+1+1 

(b) With suitable diagram briefly describe the cytological basis of crossing over. 5 

(c) Mention the various types of DNA repair mechanisms known to counteract the effects of 

UV rays. What is the role of visible light in photoreactivation? 

4+1 

(d) Briefly describe the rII locus in T4 phage. How could rII locus be divided into two 

cistrons? 

3+2 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to their 

own respective colleges on the same day / date of examination within 1 hour after end of exam. 

University / College authorities will not be held responsible for wrong submission (at in proper 

address). Students are strongly advised not to submit multiple copies of the same answer script. 

 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021 

BNGACOR07T-BENGALI (CC7)  

বাংলা গদ° ও pবn 

Time Allotted: 2 Hours Full Marks: 50 

pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের। 
পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° উtর িদেত হেব। 

১। pিতিট একক েথেক একিট  কের pű িনেয় েমাট চারিট  pেűর উtর দাওঃ ১০×৪ = ৪০
 একক - ১

(ক) পুrষ ও নারীর অিধকােরর সাম° pিতŸার জন° বিìমচnd কী কী psাব কেরেছন — সাম° pবn gn 
অনুসরেণ আেলাচনা কেরা।  

১০

 অথবা
(খ) সাম° pবn gেn বিìমচnd উtরকােলর সাম° ভাবনােক পিরত°াগ কেরিছেলন বেল িক েতামার মেন হয় 

— েস িবষেয় আেলাকপাত কেরা।  
১০

  

 একক - ২
(গ) ‘িবƬপিরচয়’ gnিট রবীndনাথ কােক উৎসগ� কেরেছন ? উৎসগ�পেt রচনার উেdশ° সmেক� pাবিnেকর 

বkব° কী িছল আেলাচনা কেরা।  
১০

 অথবা
(ঘ) আমােদর pিতিদেনর েচনা সূেয�র অেচনা জগৎ সmেক� রবীndনাথ েয পাঠ িদেয়েছন পাঠ° pবngিল 

অনুসরেণ তার পিরচয় দাও।  
১০

  

 একক - ৩
(ঙ) pমথ েচৗধুরীর pবn মােনই শািণত গেদ°র pেয়াগ — পাঠ° pবngিলেত তার পিরচয় েকমন কের 

পাওয়া যায় েদখাও। 
১০

 অথবা 
(চ) ‘েতল নুন লকিড়’ pবn অবলmেন dই সভ°তার tলনা উদাহরণসহ আেলাচনা কেরা। ১০
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 একক - ৪ 
(ছ) ‘আপন কথা’ gেn অবনীndনাথ জীবনীসািহেত° ঘেরায়া কথনভিñর েয sাদ এেনেছন তার পিরচয় দাও।  ১০

 অথবা
(জ) ‘উtেরর ঘর’ pবেn িচtিশlী অবনীndনাথ রসরচনাকার অেপkা অেনক েবিশ pত°k — আেলাচনা 

কেরা।  
১০

  
২। িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ ৫×২= ১০

(ক) ‘‘েয �বষম° pাkিতক িনয়েমর অধীন তাই pkত �বষম°’’ – েকন ? সংেkেপ বুিঝেয় দাও। ৫
(খ) ‘িবƬপিরচয়’ ছাড়া রবীndনােথর িবjানমনsতার পিরচয় পাওয়া যায় এমন dিট িনদশ�ন ব°াখ°াসহ উেlখ 

কেরা। 
৫

(গ) ‘‘ভারতচnd যা িদেয় তা ঢাকা িদেত িগেয়িছেলন তােতই তা Ɏেট উেঠেছ’’ – ভারতচnd কী িদেয় কী ঢাকা 
িদেত িগেয়িছেলন আর েকনই বা তা করেত সkম হেলন না ? 

২+৩

(ঘ) ‘আপনকথা’ gেn রামলাল চিরtিটর grt সংেkেপ আেলাচনা কেরা। ৫
  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 

Whatsapp to their own respective colleges on the same day / date of 
examination within 1 hour after end of exam. University / College authorities 
will not be held responsible for wrong submission (at in proper address). 
Students are strongly advised not to submit multiple copies of the same 
answer script. 

  
 

——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021  

ZOOACOR07T-ZOOLOGY (CC7) 

BIOCHEMISTRY 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 
All symbols are of usual significance. 

1. Answer any eight questions: 2×8 = 16 

(a) What is an allosteric enzyme?  

(b) What is pentose phosphate pathway?  

(c) Name one amino acid with sulphur moiety and one amino acid with phenol ring.  

(d) Name one saturated and one unsaturated fatty acid.  

(e) Name one disaccharide with its basic sugar moieties.  

(f) Name one anabolic and one catabolic mechanism in body.  

(g) Define buffer.  

(h) What is the function of urea cycle?  

(i) What do you mean by redox system?  

(j) How many ATP is generated in glycolysis?  

(k) Name the bonds present in protein structure.  

(l) Why TCA cycle is called so?  

(m) What is the difference between a nucleoside and a nucleotide?  

(n) Why histone molecules contain basic amino acids?  

   

2. Answer any three questions: 3×3 = 9 

(a) Describe the basic structure of an amino acid. 3 

(b) What are basic differences between DNA and RNA? 3 

(c) Name one weak acid and one weak base. Why they are called so? 2+1 

(d) If a 100 bp long DNA bears 36 Adenines how many other bases are there in that 

strand?  

3 
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(e) How alpha helix is generated in a protein? 3 

(f) Draw the molecular structure of any one carbohydrate. 3 

   

3. Answer any three questions: 5×3 = 15 

(a) Deduce Michaelis-Menten Equation.  

(b) Describe beta-oxidation of a saturated fatty acid.  

(c) Schematically represent the TCA cycle.  

(d) Describe the different levels of protein structure with a suitable example.  

(e) Describe electron transport system (flow chart only).  

(f) What is Lineweaver-Burk Plot? What are the different factors affecting the rate of 

enzyme-catalyzed reactions? 

 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 

of exam. University / College authorities will not be held responsible for wrong submission 

(at in proper address). Students are strongly advised not to submit multiple copies of the 

same answer script. 

 

 ––––×––—  
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021 

PLSACOR07T-POLITICAL SCIENCE (CC7) 
PERSPECTIVE ON INTERNATIONAL RELATIONS AND WORLD HISTORY 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following: (Each within 30 words) 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ (pিতিট ৩০ শেbর মেধ°) 

2×5 = 10

(a) Define International Relations. 
আnজ�ািতক সmেক�র সংjা দাও। 

(b) Explain the concept of national interest in International Relations. 
আnজ�ািতক সmেক� জাতীয় sােথ�র ধারণািট ব°াখ°া কেরা। 

(c) Mention two important features of classical realism. 
rপদী বাsববােদর dিট মূল �বিশŶ° উেlখ কেরা। 

(d) Write two limitations of the Liberal approach to International Relations. 
আnজ�ািতক সmেক�র উদারৈনিতক দৃিŶভিñর dিট সীমাবdতা �লেখা। 

(e) Mention two features of core states in world system. 
িবƬব°বsার �কেnd অবিsত রাŷgিলর dিট �বিশŶ° উেlখ কেরা। 

(f) What do you mean by semi-periphery state? 
আধা-pািnকরাŷ বলেত িক �বােঝা ? 

(g) What is the main argument of the Feminist theory of International Relations? 
আnজ�ািতক সmেক�র নারীবাদী তেttর মূল বkব° িক ? 

(h) What do you mean by Cold War? 
ঠাčা যুেdর অথ� িক ? 

(i) What is CTBT? 
CTBT কােক বেল ? 

  
2. Answer any two questions from the following: (Each within 100 words) 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ (pিতিট ১০০ শেbর মেধ°) 
5×2 = 10

(a) Narrate briefly the evolution of the discipline of International Relations. 
আnজ�ািতক সmক� িবষয়িটর িববত�েনর একিট সংিkp িববরণ দাও। 
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(b) Discuss the difference between realism and neo-realism. 
বাsববাদ ও নয়াবাsববােদর মেধ° পাথ�ক° আেলাচনা কেরা। 

(c) Explain the relations between core and periphery in World Systems theory. 
িবƬব°বsা তেtt �কnd-pাn সmক�িট ব°াখ°া কেরা। 

(d) Write a short note on the Suez Canal crisis. 
সুেয়জখাল সìেটর উপর একিট টীকা �লেখা। 

  

3. Answer any three questions (within 350 words each) taking one question from 
each module:  

pিতিট মিডউল �থেক একিট কের pű িনেয় িনmিলিখত �য-�কােনা িতনিট pেűর উtর দাওঃ 
(pিতিট ৩৫০ শেbর মেধ°) 

10×3 = 30

 MODULE-I 

(a) Describe the nature and scope of the discipline of International Relations. 
আnজ�ািতক সmক� িবষয়িটর pkিত ও পিরিধ আেলাচনা কেরা। 

(b) Explain the emergence of the international state system. 
আnজ�ািতক রাŷ ব°বsার উdব ব°াখ°া কেরা। 

  

 MODULE-II 

(c) Evaluate the realist approach to the study of international relations. 

আnজ�ািতক সmেক�র আেলাচনায় বাsববাদী দৃিŶভিñর মূল°ায়ন কেরা। 

(d) Do you think that besides the state several other pluralist forces play a decisive 
role in International Relations? Argue your case. 

tিম িক মেন কেরা �য রাŷ ছাড়া অন°ান° বhtবািদ শিkgিল আnজ�ািতক সmেক� একিট grtপূণ� 
ɛিমকা পালন কের ? �তামার উtেরর sপেk যুিk দাও। 

  

 MODULE-III 

(e) Narrate briefly the different phases of Cold War. 

ঠাčা যুেdর িবিভn পয�ায়gিল সংেkেপ বণ�না কেরা। 

(f) Describe briefly the post Cold War world. 

ঠাčা যুেdাtর িবেƬর একিট সংিkp বণ�না দাও। 
  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

PHSACOR07T-PHYSICS (CC7) 

DIGITAL SYSTEMS AND APPLICATIONS 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limits as practicable. 
Answers must be precise and to the point to earn credit. 

All symbols are of usual significance. 

 Question No. 1 is compulsory and answer any two from the rest  

1. Answer any ten questions from the following: 2×10 = 20 

(a) What are the advantages and limitations of ICs?  

(b) Why is delay line used in the vertical deflection system of a CRO?  

(c) What is the function of aquadag in a CRT?  

(d) Convert (2598.675)10 to hexadecimal.  

(e) Perform the decimal addition 679.6 + 536.8  in the 8421 BCD code.  

(f) Prove the Boolean identity : 

 ( )AB BC A B C BC ABC ABC A B C          

 

(g) Given  AB AB C  ,  find AC AC .  

(h) Realise XNOR gate using only NAND gates.  

(i) Draw the circuit diagram of a 4-bit subtractor.  

(j) What is the need of clocking a flip-flop?  

(k) What are the differences between ripple counter and parallel counter?  

(l) What do you mean by edge triggering and level triggering?  

(m) Find the number of flip-flops required for a MOD-5 counter.  

(n) What are the main functions of a Register?  

   

2.  (a) What do you mean by deflection sensitivity of a CRT? Deduce an expression for 

deflection sensitivity of a CRT using magnetic deflection. Why do you use a saw- 

tooth voltage in a CRO? 

2+3+2 

(b) Design a full adder using NAND gates only. Steps of calculation in designing are 

required. 

3 
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3.  (a) Expand ( )( )A A B A B C    to maxterms and minterms. 3 

(b) Simplify the expression )()( xyyxF   and draw the simplified circuit. 2+1 

(c) A binary ripple counter is required to count up to (16383)10. Find how many flip-

flops are required. If the clock frequency is 8.192 MHz what is the frequency at 

the output of the MSB? 

2+2 

   

4.  (a) On the CRO screen, the time base control is calibrated by 0.2 ms/div. One full 

cycle of  the display covers 10 divisions on the time scale. Find the frequency of 

the input. 

3 

(b) Convert D flip-flop to a J-K flip-flop and vice versa. 2+2 

(c) Draw a 4-bit serial-in, serial-out shift register using J-K flip-flops and show 

output stages. 

3 

   

5.  (a) What is meant by the propagation delay in a counter? 2 

(b) Design an asynchronous mod-10 counter using J-K flip-flop. Show the output. 4 

(c) Reduce the expression  )13,12,10,9,8,7,5,3,2,1,0(mf  using K-Map 

and implement the minimal expression using NAND gates. Show all intermediate 

steps. 

4 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 

end of exam. University / College authorities will not be held responsible for wrong 

submission (at in proper address). Students are strongly advised not to submit multiple 

copies of the same answer script.  

 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021 

PHIACOR07T-PHILOSOPHY (CC7) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Is ethics a normative science? 
নীিতিবদ°া িক একিট আদশ�িনŸ িবভাগ ? 

(b) Define rule-deontology. 
িনয়ম-কt�ব°বােদর সংjা দাও। 

(c) In what sense does Frankena use the term ‘morality’?
Åােìনা �কান অেথ� ‘ৈনিতকতা’ শbিট ব°বহার কেরেছন ? 

(d) What according to Kant, is the supreme principle of morality?
কােnর মেত ৈনিতকতার সেব�াc নীিতিট কী ? 

(e) What are the postulates of morality?
ৈনিতকতার sীকায� সত°gিল কী কী ? 

(f) What are the different stages of voluntary action?
ঐিcক িkয়ার িবিভn sরgিল কী কী ? 

(g) What do you mean by Egoistic Hedonism?
‘আtসুখবাদ’ বলেত িক �বােঝা ? 

(h) What is ‘conflict of desires’? 
‘কামনার dnd’ কী ? 

(i) What is Punishment? 
শািs কী ? 

(j) What is ‘Naturalistic Fallacy’? 
‘pkিতবাদী অনুপপিt’ কী ? 

(k) Are habitual actions an object of moral judgment? 
অভ°াসজাত িkয়াgিল িক ৈনিতক িবচােরর িবষয়বst ? 

(l) What is Prescriptivism? 
িনেদ�শবাদ কােক বেল ? 
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2. Answer any two questions from the following:
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) Indicate the scope of ethics. 
নীিতিবদ°ার পিরিধ িনেদ�শ কেরা। 

(b) Distinguish between moral and non-moral actions. 
ৈনিতক ও অৈনিতক িkয়ার মেধ° পাথ�ক° িনেদ�শ কেরা। 

(c) How does Act-Utilitarianism differ from Rule-Utilitarianism? 
কম�-উপেযাগবােদর সেñ নীিত উপেযাগবােদর পাথ�ক° �কাথায় ? 

(d) Explain the dictum – Duty for duty’s sake. 
‘কত�েব°র জন°ই কত�ব°’ – কথািট ব°াখ°া কেরা। 

(e) Explain Gross and Refined Egoistic Hedonism. 
sূল এবং মািজ�ত আtসুখবাদ তtt ব°াখ°া কেরা। 

(f) Write a note on Deontological Ethics. 
কত�ব°মুখী ৈনিতকতা সmেক� টীকা �লেখা। 

  
3. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  

15×2 = 30

(a) Distinguish between ‘motive’ and ‘intention’. Which is the object of moral 
judgement? Discuss. 
উেdশ° ও অিভpােয়র মেধ° পাথ�ক° কেরা। �কানিট ৈনিতক িবচােরর িবষয়বst ? আেলাচনা কেরা। 

5+10

(b) Critically discuss Bentham’s Altruistic Hedonism. 
�বnােমর পরসুখবাদ িবচারপূব�ক আেলাচনা কেরা। 

15

(c) What is Naturalism in ethics? Examine the view critically. 
নীিতিবদ°ায় pkিতবাদ কােক বেল ? সিবচার আেলাচনা কেরা। 

5+10

(d) Analyse Kant’s doctrine of morals as a standard of morality. 
ৈনিতকতার মানদn িহেসেব কােnর নীিততtt িবেųষণ কেরা। 

15

(e) What are the different theories of punishment? Which theory do you accept? 
Justify your answer. 
শািs সmক�ীয় িবিভn মতgিল কী কী ? tিম �কানিটেক gহণেযাগ° বেল মেন কেরা ? �তামার উtেরর 
sপেk যুিk দাও। 

3+12

(f) What are the different forms of Utilitarianism? Discuss critically Mill’s 
Utilitarianism. 
উপেযাগবােদর িবিভn pকারgিল কী ? িমেলর উপেযাগবাদ িবচারসহ আেলাচনা কেরা। 

2+10+3

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour 
after end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

MTMACOR07T-MATHEMATICS (CC7) 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as practicable. 

 All symbols are of usual significance. 

Answer Question No. 1 and any four questions from the rest 

1. Answer any four questions from the following: 2×4 = 8 

(a) What is the midpoint rule for numerical integration?  

(b) Prove that  . .  

(c) Prove that xx
E

63
2








 
, where interval of differencing is taken as 1. 

 

(d) Evaluate first two divided difference of 3)( xxf   for arguments 210 ,, xxx .  

(e) Find iterative formula for finding real root of the equation 0)()(  xgxf  by using 

Newton-Raphson method. 

 

(f) Prove that 
2

0
2

210
!2

)(
),,(

h

xf
xxxf


  

where hxxhxx  1201 ,  

 

(g) Solve the system of equations by Gauss-Jordan method: 532,2  yxyx .  

(h) Find the solution of the differential equation 

 0)0(,1  yy
dx
dy

 

for 2.0x  by using Euler’s method (take step-length 1.0h ). 

 

   

2.  (a) To find a real root of an algebraic equation 0)( xf  by using Newton-Raphson 

method, interative formula is obtained as (assuming convergence) 

 
223

22
2

23

1





nn

nn
n

xx

xx
x  

Find the polynomial )(xf  and also find the only real root of the equation. 

5 
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(b) Calculate the total number of multiplications and divisions are required in back 

substitution process of Gauss Elimination method to obtain the solution of the 

following equation. 

 1919212111 bxaxaxa    

 2929222121 bxaxaxa    

 ……….. 

 9999292191 bxaxaxa    

3 

   

3.  (a) In LU-decomposition method, it is required to compute an upper triangular matrix 

and lower triangular matrix. If the given matrix is singular, what will be problem 

for LU-decomposition? Explain it analytically. 

3 

(b) Suppose you have given (2n +1) interpolating points niyx ii 2...,,1,0),,(   and you 

have determined interpolating polynomial using these interpolating points by 

Lagrange interpolation formula and Newton divided difference interpolation 

formula. Now, one extra interpolating point ),( 1212  nn yx  is given to you. At this 

moment what formula is better (compare with two said formulas) to compute 

updated interpolating polynomial. Explain it analytically. 

5 

   

4.  (a) Find )(xy  from the following table: 

x 0 1 2 3 4 

y(x) 1 1 15 40 85 

Hence find )(xy  at x = 0.5. 

3+2 

(b) Suppose you are given four tabulated interpolating points (0.01, 1.2), (0.03, 1.5), 

(0.07, 2.5), (0.08, 3) and you have to find  f (0.015) by using Lagrange interpolation 

formula. If you directly apply the Lagrange formula, what error may be occurred? 

The error can be avoided by using a suitable linear transformation. Mention what 

linear transformation can be suitable for this problem. Write down the new 

Lagrange interpolation formula after transformation. 

3 

   

5.  (a) What are the advantages and disadvantages of Newton-Raphson method over a 

general fixed point iteration method in computing a real root of an equation )(xf , 

in case both the methods are applicable. 

4 

(b) Define divided difference of order n. Show that it is symmetric function of its 

arguments. 

4 

   

6.  (a) Find absolute, relative and percentage error in 92sin3)( 2  xxxf  for 0x  

when the error in x is 0.003. 

3 

(b) Design an algorithm to find the real roots of the equation 02  cbxax , where 

cba ,,  are real numbers. 

5 
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7.  Compute )2.0(y  for the initial value problem 1)0(,  yyx
dx
dy

 by Runge-Kutta 

method. Use step length h = 0.1. 

8 

   

8.  (a) Derive a general quadrature formula for equidistant ordinates and hence derive 

Simpson’s 83
th
 rule. 

4+1 

(b) The velocity v of a particle at a distance s from a fixed point on its path is given by 

the table below 

s (in m) 0 10 20 30 40 50 60 

v (m/sec) 47 58 64 65 61 52 38 

Estimate the time taken to travel 60 meters by using Trapezoidal rule. 

3 

   

9. Describe the power method for finding the largest (in magnitude) eigen value of a 

real square matrix A. How least eigen value (in magnitude) can be obtained by 

using the Power method? Explain it mathematically. 

8 

   

10. Find the inverse of the matrix 

 A  
















221

232

123

 

using LU-decomposition method and hence solve the system of equations 

 623  zyx  

 7232  zyx  

 522  zyx  

8 

   

11. Define ‘degree of precision’ of a numerical integration formula. Mention the degree 

of precision for Trapezoidal rule and Weddle’s rule. Deduce mathematically the 

degree of precision of Simpson’s one-third rule. 

What will be the error for computing the integral 

  

5

2

2 )256( dxxx  

by using Simpson’s one-third rule and taking 10 sub intervals. Justify your answer. 

8 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 

(at in proper address). Students are strongly advised not to submit multiple copies of the 

same answer script. 

 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021  

HISACOR07T-HISTORY (CC7) 

HISTORY OF INDIA (1206 CE-1526 CE) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűরমান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

 GROUP-A
িবভাগ-ক 

 Answer any two questions from the following  
Each answer has to be written within 250 words approximately 

িনmিলিখত  েয-েকােনা dিট  pেűর উtর দাও 
pিতিট pেűর উtর ২৫০ শেbর মেধ° েলখা বাāনীয় 

5×2 = 10

1. Why did Razia fail? 
রািজয়া �কন ব°থর্ হেয়িছেলন ? 

  
2. Assess Malik Kafur’s contributions to Khalji imperialism. 

খলজী সাmাজ°বােদর িবকােশ মািলক কাɎেরর অবদান িনণর্য় কেরা। 
  
3. What were Jahandari and Zawabit? 

জাহাnারী ও জাওিবৎ কী ? 
  
4. Briefly mention the main features of Firuz Shah Tughlaq’s revenue system. 

িফেরাজ শাহ tঘলক-এর রাজsব°বsার মূল �বিশŶ°gিল সংেkেপ উেlখ কেরা। 
  
5. Write a short note on the Varkari movement in Maharashtra. 

মহারােŷ বারকরী আেnালন সmেকর্ একিট সংিkp টীকা �লেখা। 
  

 GROUP-B 
িবভাগ-খ 

 Answer any two questions from the following
Each answer has to be written within 400 words approximately 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাও 
pিতিট pেűর উtর ৪০০ শেbর মেধ° েলখা বাāনীয় 

8×2 = 16

6. Discuss the role of the nobility during the Turko-Afghan period. 
tকর্-আফগান যুেগ অিভজাত সmpদােয়র ɛিমকা আেলাচনা কেরা। 
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7. How far was Firuz Shah Tughlaq responsible for the downfall of the Delhi 
Sultanate? 
িদlী সুলতানী সাmােজ°র পতেনর জন° িফেরাজ শাহ tঘলক কতটা দায়ী িছেলন ? 

  
8. Write a short note on the textile and metal industries during the Sultanate period. 

সুলতানী আমেলর বst এবং ধাtিশেlর উপর একিট সংিkp টীকা �লেখা। 
  
9. Write a note on the nature of Indian maritime trade prior to the advent of the 

Portuguese. 
পt র্গীজ আগমেনর পূেবর্ ভারতীয় সমুd বািণেজ°র pkিত সmেকর্ একিট টীকা �লেখা। 

  
10. What was the significance of the Bhakti movement? 

ভিk আেnালেনর তাৎপযর্ কী িছল ? 
  

 GROUP-C 
িবভাগ-গ 

 Answer any two questions from the following
Each answer has to be written within 600 words approximately 

িনmিলিখত  েয-েকােনা dিট  pেűর উtর দাও 
pিতিট pেűর উtর ৬০০ শেbর মেধ° েলখা বাāনীয় 

12×2 = 24

11. Discuss the evolution of the theory of Muslim kingship in India from Iltutmish to 
Alauddin Khalji. 
ইলtৎিমস �থেক আলাউিdন খলজী পযর্n ভারতবেষর্ মুসলমান নরপিতেtর ধারণার িববতর্ন সmেকর্ 
আেলাচনা কেরা। 

  
12. Do you think that the schemes of Muhammad-bin-Tughluq were “correctly 

conceived, badly executed and disastrously abandoned”? 
tিম িক মেন কেরা �য মহmদ-িবন-tঘলেকর পিরকlনাgিল িছল ‘‘সিঠকভােব কিlত, মnভােব 
rপািয়ত ও িবপযর্য়করভােব পিরত°k’’ ? 

  
13. Trace the evolution of the architectural style under the Sultans of Delhi 

highlighting its main features. 
িদlীর সুলতানেদর অধীেন sাপেত°র মূল �বিশŶ°gিল িচিhত কের sাপত°ৈশলীর িববতর্ন িনধর্ারণ 
কেরা। 

  
14. Write a short essay on the debate relating to the urbanization in medieval India. 

মধ°যুেগর ভারতবেষর্ নগরায়ন সংkাn িবতেকর্র উপর একিট সংিkp pবn �লেখা। 
  
15. Distinguish different trends within Indian Sufism. Discuss the impact of Sufism 

on the society and culture of India under the Sultanate. 
ভারতীয় সুফীবােদর িবিভn ধারাgিলেক পৃথকভােব িচিhত কেরা। সুলতানী শাসেনর অধীেন 
ভারতবেষর্র সমাজ ও সংskিতর উপর সুফীবােদর pভাব আেলাচনা কেরা। 

6+6

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script.  

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Com. Honours 3rd Semester Examination, 2020, held in 2021 

FACACOR07T-B.COM. (CC7) 

FINANCIAL ACCOUNTING-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words as far as practicable 

All symbols are of usual significance. 

 GROUP-A  

 Answer any two questions 10×2 = 20 

1. A and B are two partners sharing profit and losses in the ratio of 3:2. On 

31.12.2019 their capital accounts stood at Rs. 55,000 and Rs. 45,000 respectively 

after distribution of net profit of Rs. 15,000 and due consideration of drawings of 

the partners for Rs. 6,000 and Rs. 4,000 respectively. After closing the books 
following discrepancies were discovered: 

(i)  An item in the inventory was valued at Rs. 12,800 but had a realistic value of 

Rs. 8,300. 

(ii)  Rs. 2,400 paid for insurance premium for the year ending on 31.3.2020 had 
been debited to profit and loss account. 

(iii) Interest on capital at 5% on partners’ capital as at the beginning of the year 

and interest on drawings of partners at 8% p.a. were left out of consideration. 

Ascertain the correct net profit of the firm and redistribute the profit by preparing 

a profit and loss of appropriation account and determine the balance of partners’ 

capital accounts. 

 

   

2. Ram, Rahim and Joseph are partners sharing profits and losses as 5:3:2. Their 

Balance Sheet on 31st March, 2020 is as follows : 

Liabilities Rs. Rs. Assets Rs. 

Capital A/cs:   Building 20,000 

Ram 8,000  Machinery 12,000 

Joseph 2,400  Furniture 6,400 

  10,400 Stock 8,000 

Ram’s Loan 8,000 Debtors 6,800 

Creditors 40,000 Rahim’s Capital 5,200 

 58,400  58,400 

As all the partners are declared insolvent the firm is dissolved. Rs. 24,000 is 

realized from the sale of all assets. Realisation expenses are Rs. 1,200. A sum of 

Rs. 2,000 is received from Rahim, but Ram and Joseph are unable to contribute 

anything. 

Prepare necessary accounts for dissolution of the firm. 
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3. Shri Kaushik sales two products manufactured in his two factory. The goods are 

made in two departments A and B for which separate set of accounts are 

maintained some of the manufacturing goods of department A are used as raw 

material of department B and vice versa. 

From the following particulars you are required to ascertain the total cost of goods 

manufactured in department A and B:  

  Department 

A 

 Department 

B 

 Total Units Manufactured  1000000  500000 

 Total Cost Of Manufacturing  Rs. 10000  Rs. 5000 

 Department A transferred 250000 units to department B and the latter transferred 

100000 units to the former. 

 

   

4. A manufacturer purchases a plant for Rs. 22,730 on the instalment payments 

system. The first payment is to be made at the time of taking delivery of the plant 

and entire payment is to be completed by four more equal annual payments. The 

vendor charges interest at 5% per annum. Assuming depreciation to be charged at 

10% per annum on the reducing instalment plan, draw up the Plant Account and 

the Vendors Account in the books of the manufacturer. The present value of Re 1 

paid at the beginning of each year for 5 years at 5% per annum is Rs. 4.5460. 

 

   

5. Sun Ltd. invoices goods to its Patna branch at cost plus 20%.  The Patna branch 

also purchases  independently for which payments are made by Head Office. All 

cash collected by the branch is banked on the same day to the credit of the Head 

Office. 

All expenses are directly paid by the Head Office except petty expenses for which 

a petty cash account is maintained by the branch to which periodical transfers are 

made from the Head Office. 

From the following particulars show the Branch Account in the books of Head 

Office for the year   ended 31-12-2020 : 

 Stock on 1-1-2020 

Rs. 

Stock on 31-12-2020 

Rs. 

Transfer from Head Office at 

invoice price 

60,000 45,000 

Directly purchased from 

local market 

35,000 25,000 

 Rs. 

Imprest Cash on 1-1-2020           5,000 

Imprest Cash on 31-12-2020     4,600 

Sundry Debtors as on 1-1-2020    75,000 

Cash Sales … … … 1,12,500 

Credit Sales … … ... 3,12,500 

Direct Purchase … … … 1,12,500 

Returns from customers … … …   7,500 

Goods sent to branch at invoice price …  …      1,50,000 

Bad debt … … … 4,000 

Discount to Customers … … … 3,500 

Cash received from customers … … …         3,00,000 

Transfer from Head Office for Petty Cash Expenses … 6,250 

Other Expenses at branch … …. … 7,500 
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6. What do you mean by investment accounting?  Explain with example cum-

dividend, ex-dividend, cum-interest and ex-interest. 
2+8 

   

 GROUP-B  

 Answer any two questions 15×2 = 30 

7. A, B and C were in partnership, their respective shares being 2:1:1. The following 

was their  Balance Sheet on 31-03-2020 on which date they decided to dissolve the 

firm : 

 
Liabilities Rs. Rs. Assets Rs. 

Partners’ Capitals :   Machinery 72,000 

A 96,000  Furniture 50,000 

B 80,000  Stock 80,000 

C 60,000  Debtors 1,20,000 

  2,36,000 Cash 34,000 

Loan from B 22,000   

Loan from Bank 

(secured by pledge 

of stock) 

60,000   

Income tax payable 8,000   

Creditors 30,000   

 3,56,000  3,56,000 

Additional Information : 

(i)  Bank could realize only Rs. 50,000 on disposal of stock. 

(ii)  A sum of Rs. 6,000 was spent on machinery for getting better price. 

(iii)  All assets except stock were realized as follows : 

 April, 2020 – Rs. 24,000; May, 2020 – Rs. 30,000; June, 2020 – Rs. 20,000;  

 July, 2020 – Rs. 60,000;  and August, 2020 – Rs. 70,000.  

The partners distributed cash as and when available. Show the distribution of 

Cash. 

 

   

8. A, B and C were partners profits and losses in the ratio of 3:2:1. Their balance 

sheet as on 31.3.2020 stood as follows: 

Liabilities Rs. Assets Rs. 

Sundry creditors 

General reserve 

Capital accounts: 

A           40,000 

B           21,000 

C           20,000 

12,500 

18,000 

 

 

 

81,000 

Cash at bank 

Debtors              15,000 

Less: Provision    1,500 

Stock 

Joint Life Policy 

Office Equipments 

Furniture 

Building 

1,500 

 

13,500 

12,500 

8,000 

14,000 

12,000 

50,000 

 1,11,500  1,11,500 

B retires on 1.4.2020 subject to the following conditions: 

(i) A typewriter purchased on 1.10.2019 for Rs. 2,000, debited to 

office expenses account, is to be brought into account charging 

depreciation at the rate of 10% p.a. 
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(ii) Building is revalued at Rs. 75,000. Furniture is to be written down 

by Rs. 2,000 and stock is reduced to Rs. 10,000. 

(iii) Provision for bad debts is to be calculated at 5% on debtors. 

(iv) Goodwill of the firm is valued at Rs. 18,000 but no goodwill 

account is to be raised. 

(v) Life policy is to be shown at surrender value. The surrender value 

is Rs. 7,500. 

(vi) Amount due to B is to be transferred to his loan account. 

(vii) A and C will share profits and losses in the ratio of 2:1 and their 

capital accounts are to be adjusted in profit sharing ratio. 

You are required to prepare revaluation account, partners’ capital accounts and 

balance sheet immediately after retirement. 

   

9. X Transport Ltd. purchased from Delhi Motors 3 Tempos costing Rs. 50,000 each 

on the hire purchase system on 1-1-2018. Payment was to be made Rs. 30,000 

down and the remainder in 3 equal annual instalments payable on 31-12-2018, 

31-12-2019 and 31-12-2020 together with interest @ 9%. X Transport Ltd. writes 

off depreciation at the rate of 20% on the diminishing balance. It paid the 

instalment due at the end of the first year i.e. 31-12-2018 but could not pay the 

next on 31-12-2019. Delhi Motors agreed to leave one Tempo with the purchaser 

on 1-1-2020 adjusting the value of the other 2 Tempos against the amount due on 

31-12-2019. The Tempos were valued on the basis of 30% depreciation annually. 

Show the necessary accounts in the books of X Transport Ltd. for the years 2018, 

2019 and 2020. 

 

   

10. A Patna based merchant has a branch at Gaya to which he charges out goods at 

cost plus 25%. The Gaya branch keeps its own sales ledger and remits all cash 

received to Patna head office every day. All expenses are paid from the head 

office. 

The transactions for the Gaya branch were as follows: 

 Rs.  Rs. 

Stock (1.1.20) 11,000 Returns inward 500 

Debtors (1.1.20) 1,700 Cheques sent to branch: 

Rent  600 

Wages  200 

Salary and other expenses 900            

 

 

 

 

1,700 

Petty cash (1.1.20) 100 

Cash sales 2,650 

Goods sent to branch 20,000 

Collection on ledger 

accounts 

21,000 Stock (31.12.20) 13,000 

Goods returned to 

head office 

400 Debtors (31.12.20) 2,000 

Bad debts 300 Petty Cash (31.12.20) 100 

Allowances to 

customers 

250   

Prepare in the books of the merchant based at Patna, the Gaya branch account and 

the branch trading account and the profit and loss account for the year ended 31
st
 

December, 2020. 
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11. On 1.1.2015, S.K. Ltd had 10,000 Equity Shares of Rs. 10 each in Alpha Ltd. 

purchased for Rs. 1,25,000. The company unlike Investment Companies does not 

make any apportionment of dividends (received or receivable) in between capital 

and revenue. On 15.5.2015, the Alpha Ltd. made a bonus issue of 1 fully paid 

share for 2 held on 15.5.2015. In addition on the same day Right shares were 

issued at 3 for 5 held that date at a premium of Rs. 3, Rs. 7 to be paid on 

application and the balance in one call after a month. These shares are not to rank 

for dividend for the year ending 30
th

 June, 2015. 2,000 Right shares were taken up 

by X Ltd. Balance Rights being sold at Rs. 2 each on 25.5.2015. On 15.10.2015 

the company declared a dividend of 20% for the year ending 30
th

 June, 2015. 

Make out the Investment Account in the books of X Ltd. Ignore Income Tax. 

 

   

12. Hotel Heritage has two departments – (i) Lodging Department and (ii) 

Restaurant Department.   

       The Trial Balance of Hotel Heritage as on 31-03-2020 is as follows: 
 

Debit Rs. Credit Rs. 

Purchase of Foods 3,10,000 Provision for Depreciation of 
Buildings 

4,80,000 

Opening stock of food  
materials 

20,400 Suppliers Account  1,96,000 

Debtors 16,000 Capital 44,00,000 

Buildings 

(1/10 is used for  

Restaurant 

Department) 

42,00,000 Income from Lodging Dept. 9,20,000 

Income from Restaurant 
Dept. 

6,40,000 

Interest 22,600 

Furniture and 

Equipments 

12,00,000   

Wages 1,20,000   

General Expenses 5,48,200   

Interest accrued 4,000   

Income Tax 8,000   

Life Insurance 

Premium 

(for Proprietor) 

 32,000   

Cash at Bank 2,00,000   

66,58,600 66,58,600 

  

Additional Information: 

(a)  Closing stock of food materials Rs. 12,600. 

(b)  Wages are to be apportioned in the proportion ½ to the Lodging 

Department, ¼ th to the Restaurant Department and the residue to the 

General Profit and Loss Account. 

(c)  The employees in the Lodging Department had occupied a room worth  

Rs. 2,400 and took means worth Rs. 1,200. Similarly, employees in the 

Restaurant Department had occupied a room worth  Rs. 3,000 and took 

meals worth Rs. 1,800. 
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(d)  Increase provision for depreciation of the building to Rs. 6,00,000. 

Depreciate furniture & Equipments @ 10% p.a. and apportion the amount 

in the ratio of 3:2:1    to lodging, restaurant and office. 

(e)  A sum of Rs. 16,000 representing accommodation Rs. 4,800 and meals  

Rs. 11,200 is to be charged   to proprietor of the hotel. 

You are required to prepare Departmental Profit & Loss A/c, General Profit & 

Loss A/c for the    year ended 31-03-2020 and Balance Sheet as on that date. 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 

of exam. University / College authorities will not be held responsible for wrong submission 

(at in proper address). Students are strongly advised not to submit multiple copies of the 

same answer script. 

 

 ––––×––—  
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021 

ENGACOR07T-ENGLISH (CC7) 

PAPER TITLE: BRITISH POETRY AND DRAMA (17
TH

 -18
TH

 C) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  

Candidates should answer in their own words and adhere to the word limit as practicable. 

1. Answer any one from the following questions in about 500 words: 15×1 = 15 

(a) Make a critical assessment of Milton’s use of epic conventions in Paradise Lost, 

Book I. 

 

(b) Discuss Milton’s Paradise Lost, Book I, as an epic delineating the conflict 

between good and evil. 

 

   

2. Answer any one from the following questions in about 500 words: 15×1 = 15 

(a) ‘The Rape of the Lock is much more than a satire; it is a work of imagination.’ 

Comment on the validity of this observation with reference to the text. 

 

(b) Is Pope’s treatment of Belinda in The Rape of the Lock a satirical commentary on 

feminine follies? Discuss with close reference to the text. 

 

   

3. Answer any two from the following questions in about 200 words: 5×2 = 10 

(a) Who is Satan’s second in command in Paradise Lost, Book I? Discuss his role.  

(b) Comment on the appropriateness of the Vallombrosa simile in Paradise Lost, 

Book I. 

 

(c) Briefly describe how, according to Ariel, the women were transformed after death 

in The Rape of the Lock. 

 

   

4. Contextualise and explain any two of the following extracts: 5×2 = 10 

(a) For this, ere Phoebus rose, he had implor'd 

Propitious Heav'n, and ev'ry pow'r ador'd, 

But chiefly love—to love an altar built, 

Of twelve vast French romances, neatly gilt. 
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(b) With varying vanities, from ev'ry part, 

They shift the moving toyshop of their heart; 

Where wigs with wigs, with sword-knots sword-knots strive, 

Beaux banish beaux, and coaches coaches drive. 

 

(c) What in me is dark 

Illumine, what is low raise and support; 

That to the highth of this great Argument 

I may assert Eternal Providence, 

And justify the ways of God to men. 

 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 
Whatsapp to their own respective colleges on the same day / date of examination 

within 1 hour after end of exam. University / College authorities will not be held 

responsible for wrong submission (at in proper address). Students are strongly 

advised not to submit multiple copies of the same answer script. 

 

 
––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021 

EDCACOR07T-EDUCATION (CC7) 

CONTEMPORARY ISSUES 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any two questions from the following:
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) State the problems related to language education in India. State the 
recommendations of Kothari Commission with respect to language education. 
ভারতবেষ� ভাষা িশkা সংkাn সমস°াgিল আেলাচনা কেরা। ভাষা িশkা সmেক� েকাঠারী কিমশেনর 
সুপািরশgিল েলেখা। 

9+6

(b) Discuss the problems related to education of backward classes in India. State 
some measures recommended by different commissions and policies to solve the 
problems. 
ভারতবেষ� পůাদপদ েËণীর িশkা সংkাn সমস°াgিল আেলাচনা কেরা। এই সমস°া সমাধােন িবিভn 
কিমশন এবং িশkা নীিতর িকছু সুপািরশ উেlখ কেরা। 

9+6

(c) Discuss briefly the recommendations of National Curriculum Framework, 2009. 
National Curriculum Framework, 2009-র সুপািরশgিল সংেkেপ আেলাচনা কেরা। 

  
2. Answer any two questions from the following: (Each answer within 200 words) 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ (pিতিট উtর ২০০িট শেbর মেধ°) 
5×2 = 10

(a) State the importance of technical and vocational education. 
কারীগির ও বৃিtিশkার grt েলেখা। 

(b) State some problems related to adult education in India. 
ভারতবেষ� বয়Ŵ িশkা সংkাn িকছু সমস°ার উেlখ কেরা। 

(c) State the characteristics of non-formal education. 
pথামুk িশkার �বিশŶ° েলেখা। 

(d) What are the causes of inequality of educational opportunity? 
িশkার অসম সুেযােগর কারণgিল িক িক ? 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––—
 


